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REASONING MEGA QUIZ FOR SSC CGL

S1. Ans.(c)
Sol. Rustle sound is created by leaves.
Thunder sound is created by clouds.

S$2. Ans.(c)
Sol.  Study of algae = Phycology
Study of blood - Haematology

$3. Ans.(c)
Sol. + 1-1 series

S4. Ans.(b)
Sol. —5,+4,—3,+2,—1 series

$5. Ans.(d)
Sol. 4X8+4+5%x6=62
4x2+6%x5 =238

$6. Ans.(c)

Sol. 292 =841

Reverse the digit = 148
49% = 2401

Reverse the digit = 1042

S$7. Ans.(b)
Sol.  Bhangra is the dance form of Punjab.
Garba is the dance form of Gujarat.

S8. Ans.(c) 12 Months Subscription
Sol.
Weak - Feeble S S C C G L
} Similar words
Large - Colossal KA MAHA PACK
Live Class, Video Course,
S9. Ans.(c) Test Series, e-Books

Sol. In the first four digit opposite letter series and the latter +10 series

Bilingual (with e-Books)
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$10. Ans.(a)
Sol. +1,+2,+1,+2 series

S$11. Ans.(a)
Sol. K HOH K
X KX
F DHK J K H
Similarly, KDV N
X K X
KSDK J NV
S$12. Ans.(d)
ol DRI VE S P UR
RN
5 9 3 7 2 6 4 8 9
Then P R I D E
]
4 9 35 2
$13. Ans.(c)
sol DK F]J] VG
| XX
D F KV ] G
Similarly,
K D J F G H
| X X |
K J] DG F H
S$14. Ans.(d)
Sol.

D S F K N S
4 19 6 11 14 19
149 1+1 1+4 149
4 10 6 2 5 10
Reverse the sequence

10526104
Similarly, KLDFJG — 716432

$15. Ans.(b)
Sol.

the correct code is- E-1,0-5,L-7, 0-5,G-9,Y-2.
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$16. Ans.(b)
Sol.

NEU RO TIC

TIC RO NEU
Similarly,
PSY CHOTIC

TIC CHOPSY

$17. Ans.(a)
Sol. The code is J-1, W-9, X-8, C-3, L-6, Z-4

$18. Ans.(c)

Sol.

P can be coded as =31, U’s code = 41

V’s code is =43 and F’s code is = 11

Code for PUVFis=31+41+43+11=126

$19. Ans.(b)
Sol. pairs of opposite letters are given.

$20. Ans.(b)
Sol. The number is related to position of opposite letter of the given letter in English alphabet so Code of
BURST is 25-6-9-8-7.

$21. Ans.(b)
Sol. all others are negative feelings.

S$22. Ans.(a)
Sol. all others are hand wearing.

S$23.ans.(c)
Sol. all others are skipping only one element at the second place.

S$24. Ans.(b) 12 Months Subscript.
Sol. only option(b) follow a different sequence of Alphabets.

‘el et ol
$25. Ans.(b)

Sol. Except(b) All are multiple of 7.

SUPREME

All SSC Video Courses

3 | www.bankersadda.com | www.sscadda.com | www.careerpower.in | www.adda247.com



http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/
https://store.adda247.com/comprehensive-video/2763/SSC-Supreme-Video-Subscription-Validity-12-Month

